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Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Find a vector of magnitude /2 that has the direction of @ = 3i — 57 + 2k.
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2. (3 points) Show that the points P (1,2,3), Q (—2,7,6), and R (4, —3,5) are not collinear.
Pa (a\)c+(va)d+((o3)\¢ -80+53+3k }
BR- (y)i+(-3-8)p+ (5:3)i = 8- 55+8k
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3. (2 points) The two-dimensional vector @ has magnitude 8 and makes a 210° angle with
the positive z-axis. Find the component form of 3.
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TUYWEL - 4p = 3@- -/9@"2-/5@“}
4. (2 points) Compute 2@ — 37 if @ =i — j+ 7k and ¥ = 67 — 10k.
Q-7 - 3(6e-i0k)
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